Organic Chemistry Problem Set #6

Problem 11.4

iBr6duct would you expect from Sy2 reaction of 1-bromobutane with each of the

B KOH  (@H—C=C—Li (@) N

Problem 11.12
bljtene and -bromo-2-butene undergo Sy1 reaction at nearly the same rate even -
e'{ls a secondary halide and the other is primary. Explain.

Problem 11.27

Which compound in each of the following pairs will react fas
Sn2 reaction with OH™?

(a) CHsBr or CH3l

(b) CH3CHo,I in ethanol or in dimethyl sulfoxide

(c) (CH3)3CCl or CH3Cl

(d) HyC=CHBr or HoC=CHCH;Br

Problem 11.31

ight you prepare each of the following molecules using a nucleophilic
io gjnon reaction at some step?

tI:H3 (b) CH3 {6) CHgCHoCHoCHoCN {d) CH3CHaCHoNH5
45C=CCHCHg CHg—O—([:CHg
CHg

Problem 11.33

qtf?the produet and give the stereochemistry resulting from reaction of
5f the follomng nucleophiles with {R)-Z—bromooctane

(b) CH3CO2~ (© CH3S™

Problem 11.41
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Order each of the foll

-
reactivity: Wing sets of compounds with respect to SN,
(a) CHg HaC' CHs _

HaC—C—cj \“r:’ar THE
| ~ CH3CH,C
CHy FI 3LH2CHCH,
(b) (CHz)5CCH
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Problem 11.42
Order each of the foll

; owil ’
Teactivity: _ 1 Sets of compounds with respect to SN
(a) . (I:H3 ' }
Ci
H3C—C—cj [
| CH3CH,CH,C CH3CH,CHCH,
CHg _
(b) cH
CH (IZH?:H I s
3 CH
;
CH3

(c) CH3CHECHEU CHg CH3CH,CH,0Tos CH3CH,CH.,Br
2

Problem 11.45
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aw in Section 8.7 that bromohydrins are converted into epoxides when

-,:.“Eth base. Propose a mechanism, using curved arrows to show the
on flow.

&
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H/ VCHg  Ethanol ™ H-7” \“H o
CHz H CHz CHj

lgﬁt of your answer to Problem 11.45, what

_ product might you expect
i treatment of 4-bromo-1-butanol with base? -lg ! ’

BrCHCHoCH,CH,0H 2232, 7

Problem 11.57

2-Butanol slowly racemizes on standing in dilute sulfuric acid. Explain.
?H
CH3CH2CHCH3 2-Butanol



